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FACULTY OF COMMERCE AND MANAGEMENT
M.Com. (First Year) (First Semester) EXAMINATION
NOVEMBER/DECEMBER, 2024

STATISTICAL ANALYSIS FOR BUSINESS

(Tuesday, 10-12-2024) Time : 10.00 a.m. to 1.00 p.m.
Time—3 Hours Maximum Marks—175
N.B. .(— () Attempt all questions.

(z1) Question No. 1 is compulsory.
(@iz)  All questions carry equal marks.

(fv) Simple calculator is allowed.
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If rig = 0.86, ry3 = 0.65 and r9g = 0.75, find out partial correlation : 15

@  rigs

SR rqg = 0.86, ri5 = 0.65, 3TV ryg = 0.75, T AMMH Teday A

@  rios
@) 3.2

Calculate multiple correlation from the following data :

If ri9g = 0.90, ri3 = 0.75 and ryg = 0.70, then calculate : 15
@  Rypog
@) Rgqg
@i)  Rgqg

wreiel mfediae sgfay ggges Ha :

SR ry9 = 0.90, ryg = 0.75, S roq = 0.70, T FQ@

@)  Rgqg
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From the following data find out the missing frequency and Yule’s Coefficient

of Association.

o N 0

qeia Hifedioed 1 fooiel Hifedt el d Joiol dead UM Iiel

AB = 300

= 700

1500

= 800

Find out F test from the following data :

Group ‘A’ Group ‘B’
18 29
20 28
36 26
50 35
49 30
36 44
34 46
49
41

(Fp 05 = 3.11)
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(Fo.05 = 3.11)
Or
(fekam)

The increase in weight due to two kinds of food are given below. Can it be

said that food X is better than Y ?

Food X : | 49 53 51 | 52 47 | 50 52 | 53

Food Y : | 52 55 52 | 53 50 | 54 54 | 53

(V = 7, t005 = 2.36)
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49| 53 | 51

52

47 | 50 | 52

53

o< Y

52| 55 | 52

53

50| 54 | 54

53
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(V = 7, t005 = 2.36)

The following data relate to sales in a time of trade depression. Do the data

suggest that sales are signficantly affected by depression ?

District of District Not District Total
Sales Affected Affected

Satisfactory 250 80 330
Unsatisfactory 140 30 170
Total 390 110 500

15
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BRIEIEEatEs 250 80 330

STHHTHTR R 140 30 170

TR 390 110 500
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Or
(fefam)
Out of 200 persons who were not given medicine, 65 were paralysed and out

of 300 persons who were given medicine, 75 were paralysed. Was the medicine
effective ?

Paralysed Non-paraylsed Total
Medicine given 65 135 200
Medicine not given 75 225 300
Total 140 360 500

(V = 1, 5245 = 3.84)
ST el feell e A9 200 SHKTUh!, 65 SHKIT TashelT STeAT. a9 ST 3wl
feol 3T9M 300 FHUeh! 75 Tl fershetil oo, WOt guE] ® % ?

faeRetiT 31-fareheti THIT
afroreft foett 65 135 200
sireft foeft et 75 225 300
TE 140 360 500

Attempt any two : 15

W@?@@T:

(a) If (GR) 7"12 = 044, 7"13 = 0.55, r33 = 0.66, then ﬁnd (T‘R 'Q'ﬁ%ﬂ) M
D Rg g3

@) 731
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(b) If (Gr{) r12 = 06, 7‘13 = 07, r23 = 0.8

01=2,G2=4,G3=6

then find (T 3MeM)

1) b3y
2)  by39
(c) Advantages and limitations of partial correlation.

3T9T: TREeHT™ U/HER 9 TG
(d) Advantages and limitations of multiple correlation.

Ty HewsET™ 0 9 FARL
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